Floor standing enclosures
Combinable EMC version

MOUNTING INSTRUCTION REV.4

Nz
nvent
HOFFMAN







\

nvent

13

22

WARNING: When mounting on or over a combustible surface, a floor plate of at least 1.43 mm galvanized or 1.6 mm uncoated steel
extended at least 150 mm beyond the equipment on all sides must be installed.

WARNING: In order to maintain the environmental integrity of the enclosure, devices with the same environmental ratings shall be used
to close openings in customized enclosure.

1



nvent

HOFFMAN

MCSE




\
nvent
HOFFMAN

175

1100

1400 | 325

1600 | 425

1800 | 625

2000 | 625

2200 | 725

“* | mmm COMBINABLE ENCLOSURE

H2

Swi13

SW10

T30

S S s & 8 8 8




\

nvent

HOFFMAN
@ Ref. Pic Qty.
SW3
A 2
B | &) ms 4
Metal Guider

ON),
|4
J=N

===




\

Lﬂﬂl S
%“.«%\-F.

Y — e 9
N7 v/ '\\ -

MOUNTING THE LIFT HANDLE

\
nvent
HOFFMAN

SW3




\z
nvent
HOFFMAN

Standard Locking System Lift Handle Locking System

Your Text / Trademark Here Your Text / Trademark Here

Your Text / Trademark Here




\

nvent
HOFFMAN

%

T30

I

Standard Locking System




\
nvent
HOFFMAN

)<800 >800

2

4

D
mm

(

Pic.

@ M6x12

M12

Ref.

A

C

MCSE ROOF PANEL

SW19

T30

Torque
8-10 Nm

¥

Torque
17—20 Nm

* - Used on enclosures 800mm deep and above.




\

nvent

HOFFMAN
% % MCSE BACK PANEL Ref.|  Pic. | I<1000>1000
b - A | QG msx10 2
B | ‘(@ mex12 16 | 18

1
Qa A
o [|e Al
Q| || -
o ||
10 N
Q 0
210 |- @
Q 0
Q 0
o ||#] -
Q 0
Q ]
i 9,
Q 0
Q 0
3/
Q 0
Q ||e ]
Q 0
Q ?
Q 0
J e »Q@
Ql |le
i <
41
o ||ed. 3
g0
3 . 5% H A
o+ @»% 1100 | -
1400 | 325
1600 | 425
1800 | 525
2000 | 625
2200 | 725

* - Used on enclosures 1000mm wide and above.




4

Qty.
5/7/10/14

Pic.

‘Q@ M5x10

A @St. 5.5x10|6/8/12/16

Ref.

BOTTOM PLATE

\/
S
ent
HOFFMAN
T25

NV&

o\ \S&
o/ [e

@@%@@@%@@@@@%@%@%@% 2

-15 Nm

Torque
10

=

& =\

S So~ooooor oo o\

10




\/

nvk

N

ent
HOFFMAN

nwu., o~ o~ -
© ©
< | X &5
. [ D0 | A = =
AR5
&
® 4
-Q
m < | m )

MOUNTING PLATE

T30

F <1000N

F >1000N

MOUNTING

11-13 Nm

UNMOUNTING

10-15 Nm

11



Qty.

A | g Msx10| 2

Bottom
right

Pic.

<

/

d

Ref.

MOUNTING

MPDO02

Torque
,5-5 Nm

RV

T30

\/
ent
HOFFMAN
* | »
T25

-

NV&

11-13 Nm

UNMOUNTING

AT TS TSRS s TS

(TolToLTo[T[TLT>LT>LT"

Al

12




\
nvent
HOFFMAN

Qty.

Pic.

Q@ M6x166/8/9

A | @@ mexi2| on

Ref.

B

SPME

OV L L WL W
WINININNN
T MO T 0O W0 o
OV v v Www
NN o N
T T T 0 © ©
OO0 O OO0 ©
O IO O 9O 9O O
~ | | © 0 O N
~| v |~ ON| NN

S _ AW i
T30

_a_Torque
8-10 Nm

* - Used only on enclosures 800mm deep and above.

13



\
nvent
HOFFMAN

Qty.

Pic.

Ref.

A | Q@ mexi2| 8

Remove the cagenut.

Gasket placement on top frame.

i L
i
5 Al el T Iﬂ M M

T30

14




\

nvent

HOFFMAN

*| O

Ref. Pic. Qty.

o
=
N
I

I LE 9304

Torque v
15-20 Nm

N

®

,Torque
15-20 Nm

/©
©

15



\/

nvk

ent

HOFFMAN

Qty.

Pic.

Ref.

CCM 04

H2

MOUNTING

Note: It is mandatory for all four brackets to be installed at all four corners !
* The fixation holes can be used to better fix the bracket to the frame,using cage nuts and screws !

16



v
ent

HOFFMAN

nvk

Qty.

Pic.

Ref.

Back view

17



\
nvent
HOFFMAN

Qty.

Pic.

VQ@

M6x12| 8

Ref.

A

DHN 180

18



DHN 180
DOOR ADJUSTMENT

\
nvent

HOFFMAN

il

ASJeAS]eAS]eAS]eAS]eAS)

)

19




\V
nvent
HOFFMAN

O

Swis

Torque
1010 Nm

20



\
nvent
HOFFMAN

Qty.

Pic.

Ref.

CNM

xxk)
YE @Q@W ST o AV o AV o AS) o

Rotate

@@@%@@ SVo AS) o AS) e

Push

STao Ao ASKao AS/ao AS/a AS)a AS) o

o Ao Ao AS) o

Y
Q
Y
%
Y

Plastic cage is centered on
the square hole

21



\

nvent
HOFFMAN

LE 9304

10200N

4

LE 9304

DIN 580

22




	MCSE Mounting Instruction
	Blank Page
	Blank Page

	Floor standing combinable and compact Mounting instructions document.pdf
	MCSE Mounting Instruction
	Blank Page


